
QUIZ 5 EXAMPLES 

 

    Up 8 units 

 

 

 

 

 

      

     Check slope on two set of points 

     Here, they do not equal 

 

 

 

 

 

 

 

   x = 
−𝑏

2𝑎
→

8

4
= 2 

   y = 2(2)2 – 8(2) + 5    = -3 

   VERTEX is (2,-3) 

   *Use vertical {down 3}  

          horizontal {right 2} on graphing tool 

   *Vertical stretch of 2  

 

 

 



 

           f(x) = y value 

                 Find x where y = 6 x= 6       

      Find x where y = 13 x= 20 

     Find x where y = 0 x= -6 

     Find x where y > 6 (6,) 

       Find x where y  13 (,20] 

            Find x where 0< y   13 (-6,20] 

 

 

 

 

     Opens up so it has a minimum and the vertex is (-5,-80) 

 

 Minimum value is the y value in the vertex 

 

 

 

 

 

 

 

 

 

            THE SLOPE 

 

 



 

 

   Divide to get slope 

 

 RANGE OF X VALUES  

 

  Use graph 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

   y = a(x-h)2 + k where vertex is (h,k)  

   6 = a(1-3)2 – 2   6 = 4a – 2   8 = 4a 
   a = 2   then  

      y = 2(x-3)2 – 2  then foil, distribute and simplify 

      2(x2 – 6x + 9) – 2 

      y =2x2 – 12x + 16 

 

 

         Vertex (400, 48000000) 

 

First value is x and second value is y of the vertex 

 

 

 

 

 

Find VERTEX, part A is x value which is 60 

 Part B is y value which is $4700 

 

 

 

 

     Opens down so it has a maximum 

      The y value of the vertex is the max which is 43 

 



 

     We look at the x-intercepts by factoring x(x-6)=0 x=0,6 


